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(3) $1 5& 7. (1) 10 per cent; (2) £9. U. 9H ,•,«. 8. $1.20
9. 66i. 10. 6j. U. 11. A». Ifi. J. "*

12. 40^41
13. 7«. lU* 1)^. 14. 18«. id, 16. £63. 12«. 8H ifj. 16. |i:20l

Ex. LXXV. (pw 142.)

1. 90-83. 2. $6.58. 3. 83-67« 4. 8-667...y«. «. 60i yrs.

«.2U046-8ia. 7. £191. 8».

Ex. LXXVL (p. 145.)

1. (1) 224, 336, 448; (2) $40. 62^, $89,374, Il30; (3) 66 w.,
1 ro., 15 po 79 ac, 2 ro., 18 po. ; (4) £42. 17«. l^d. fq,, £28.
11«. 5Jd., £21. 8«. 6fe/. fy., £17. 2«. 10^ |g. ^ (1) i i. to
have $136, B $238, and C $306. (2)£136. 10».

176-4896 lbs. of hydrogen, (cwt. = 1 12 lbs). 4. 33* peJ
cent, silver. 6. 5 mo. 6. 8 mo. 7. A ought to have $6400,B $840, C $7^0. 8. A ought to have received £700, and
-fi£900. 9. ^ should pay $36, ^ $18, and C $6. 10. 24 men.

Ex. LXXVII. (p. 149.)

.

1.145 17; 25.

4. Ill; 200; 623.
8. 49 ; 87 ! 98.

6. 1111 ; 6343.
9. -094 ; 21 103.

12.2-2683; 2258.
166. 16. 2 175.

2. 29 ; 30 ; 42.

6. 703 ; 763 ; 609.
7. 7906 ; 6746 ; 7008. 8. 13509 ; 6 9.
10. -025173; -OOOOa 11. 71414; -7141.
13. 28-3992; 3103304. 14. 5773 15.
17. If. 18. 2-625. 19. 640«.

Ex. LXXVIIL (p. 162.)

1. 12; 20; 18. 2. 42; 75; 92. 3. 97; lOa 4 612; 401.
5. 76-3; -0587. 6. 6079; 7420. 7. £. 8. -643. 9. 1-560.
lai. 11.-464. 12. -215. 13.2154. 14. -333.

Ex. LXXIX (p. 152.)

PAFEB I.

iJll^ ^a}}'^^'^' 2. (1) 16 tons, 8 cwt., 3 qni., 17 lbs., 1 ox.
(cwt.= 1 12 lbs.) (2) 1 ox. Avoird.= {\\ of 1 oz. Troy.
3. £34. 9 fl. 6 c. 8-21428571 m. 4. 1 ; 2520. 6. (IJ 63-

io! ^kJ^.i^^^' ^ *1"-'^ ^^- (cwt.=112 lbs.) 6. (1) 21060.
\dL) -UuOU2106b

PAPER U.

_ 1. (1 ) $90. (2) £281. 7s. 5d. 2. Gain Der cent.= «25 j

J^s per cent.= »20. 3. (1 ) 80502.
'

(2) '266:

iW £ji.* *"1 Z'}}^^?' ft. 2 X 2 X 8 X 8 X 7 X 7 X 13.
«. 84 . 27^* pMt 6 o'clock p. m.


